LESSON Questions on SPUR Objectives
MASTER See pages 65-68 for objectives.
Vocabulary

1. Give an example of a numerical expression.

2. Give an example of an algebraic expression.

3. What does it mean to ‘‘evaluate an expression’’?

Skills Objective C

4. Evaluate 12y + 3 when

a.y=4 b. y = 25. cy=0. __

For 5-10, if the expression is algebraic write ‘‘algebraic.”” If the
expression is numerical, evaluate it.
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The perimeter of this pentagon is
3a + 2b. Find the perimeter when
a=154and b = 6.5.

14. a. Evaluate 10y> when y = 2. b. Evaluate (10y)® when y = 2.

c. Find a value for y so that the value of
'10y? is the same as the value for (10y)°.




Questions on SPUR Objectives

Vocabulary _

In

1-9, tell if each is a numerical gxpfeééioh,_ an algebraic

expression, or neither.

1.
2.
3.

4

-,
. 247 + 6(y* + 31)

5
6
1.
8. 16 = 42
9

. Finding the numerical value of an expression is called

4246 .
7x = 21
324907 — 1)

4m

22_2u

the expression.

Skills Objective C: Evaluate numérical and algebraic expressions.

P T,
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22.

Jni 10-21, evaluate each expression when e = 5, f =32, and g = 0.
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1. 77 + 22 o 13,333 =3 —
: 5 7. 26 +f |

é 16. 9 + 3 — 1.~ 3 —

2lwerrrse  — BEENE-D

;a 20_ 2(3 + 7)2 —6-9 o o 21. 618 + 29g

b The perimeter of the quadrilateral at

the left is 2a + 2b. Find the perimeter
whena = 6.75 and b = 144.
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28 ‘Vhich expression, A or B, has the greater value? Explain
_your answer. '

A=50-25-10-35 B =50 - (25 - (10 - 5y

29. a. Evaluate 4m? when m = 3.

b. Evaluate (4m)2 when m = 3,

c. Find a value of m so that the value of
4m is the same as the value of (4m)2.

Révi‘eﬁv Objective A, Lesson 1-1

30. Whlch of the numbers 1,2, and 7 are solutions of
11 +n =187

31. Which of the numbers 3,' 6, and 9 are solutions of
6:u—11=19 + y? ,

32. 'Whmh of the numbers 5, 9, and 18 are solutiong
of 7+ <807

33. Which of the numbers 12 17, and 24 are solutions
of £> 79







